Answers to Questions on Page 225
1. Cellular respiration is the process that releases energy by breaking down molecules in food in the presence of oxygen.

2. Glycolysis produces 2 molecules of pyruvic acid, 2 molecules of ATP, and 2 molecules of NADH.

5. Both are electron carriers.

Answers to Questions on Page 232

1. Pyruvic acid is broken down into carbon dioxide in a series of energy-extracting reactions.

2. The electron transport chain uses the high energy electrons from the Krebs cycle to convert ADP to ATP.

3. Cellular respiration enables cells to produce 34 more ATP molecules per glucose molecule in addition to the 2 ATP molecules obtained from glycolysis.

5. The energy flows in photosynthesis and cellular respiration take place in opposite directions. Photosynthesis is the process that “deposits” energy, while cellular respiration is the process that “withdraws” energy.

